Explicit Formula
Unit 6: Representations of Linear Relations

Find the explicit formula.

1.4,-196,—396,—596, ... :

2.—24,-32,—-40,—-48, ...

-196 - (4) = -200 q, = don + b -32~(-2)=~% Gy=d-n ¢ b
-39 -(-1%) = -200 o - “Yo~(-32)= =% _a4 = ~$(i) +b
-§%¢ ~(-3%) = ~&00 1= -200(1) + Y3 - (-Yo)= ¥ -2?{ = -84+b
L]I = ~A00 4 b 48 +8
taoo +R00 —
- . X 20“ - b -t = b
_ar\ = ~A00n +J0Y : ] !@A = win =6 I £
3.17,12,7,2, .. ‘ | a7,14,21,28, .. :
g-(z-s A=dadbo 0o aa=dntb
T-(12) = -§ 17 =-5()+b al-quys 7 1= 7() +b
=09y 5 =g 7= -5+b < 7= 71%b
+s s ag-an= 7 =%l
22 =b - 0=b
c
5.19,39,59,79, .. T B ~81; 26,2, — 16y |
39-(19) = 20 p=d'n +b | % -(-30 <5 a -dntb
59 - (3?) =20 lﬁ:l(:(n) *b ‘1|-—("26)7~‘,‘5 ~~—3]:5’[/) I"IO
29-(s9)= a0 11= 204} “16-C-20) = 5 =3 =8 4}k
“dg__T2e -5 -5
2l = b -36= b
0n=5n -3¢
7. —4,=12,—20,-28, .. 8.7,—3,—13,-23, .. ,
-,2,_(-({\ = ~§ a,\=d‘n J'l) -3-(1) = -[o a,.=d-n '/’L
~20- (~2)= ~§ —Y=-8(1)Fb -13-(-3) = ~lo 7 =-jo(1) 4}
"28"("30)2 ¥ .""/ = -8 +L) : —-23—(-[3) = "o T= -lo + b
1§ +8 +tlo +lo
1 Y =b L 07 = b
@y\: '8"\’+ﬂ On = ~10n + 17
9.-30,—38,—46,—54,.. . 10. —2,-5,-8,—11, ... ,
-3p-(-3)> <3 dy=donrb s D=3 g o4,
~Yo- (-38) = -§% -30~= -8(0%5‘ -§ ~{=%)= =3 -2=2-30(1) 4},
,;‘1,,_(__‘/'6):——8 36 = ~-§ 4} “1-(5) = -3 -2 :—5,.}6
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11.-3,-23,—43,-63, ...

12.-21,-121,-221,-321, ...

“23-(-3) =-20 Q,=d-n 4} ~121-(-a0) = ~lo6 Q. =4.n +)
“43-(-23) = -20 _,_ ~221 ~(-121) = -loo =
43 =43} =gg 3 = “dald 7} A TV RN O =S Wl
-3 =20+ 320 -023) = =Moo _ 2 = 1054
t20 420 - - +loo  4lod
7= b T71=b
a‘n = =A0n 4 |7 [gn = "/00;\ + 7ﬂ
13.24,21,18,15, .. 14.15,17,19,21, ...
20-(24) = -3 Gn=d'n +h 17- (1) = 2 Gn =d-n +b
18- (2) = -3 24 =-3()+b 19 -(17) = 2 15 =20 +b
IS-(%) = -3 2Y=-3 1}, -0 =2 - js=24b
+3 +3 A2 72 '
T 27=b i3 = b
15.22,12,2,—8, .. | 16. 40, 70,100, 130, ..
i2-(22) = -lo Qn :J‘A +L’ 70 - (o) <= 30 An =J'n‘4b
2-(12)= 1o Xl’—‘l()(l)%b loo-(70)= 30 Yo T?O(Qg“o
&0 = = -},2:‘). - ':30 ‘/07304‘
F-(2) b +lo ng b {36 <Llge) -30  ~30
@, = -16n +32) Vn = 300 +10 |
17. 38,238,438, 638, ... 18. 10, 40,70, 100, ..
235-(39)= 200 Gn=dn +b Yo - (16)=30  Gn=d'n +b
1438~ (235)> 206 3§=2c0() b 70 - (yoy= 30 - lo=30(1+b
633“(L(}9>=200 0= 2001”6 /00—(70):30 o :'30+b
~d6o ~Ao0 . - - “30 -30
‘ ~l6A = =20 =
an = 200n =162 l6a = b an = 307\ -0
19,8, —2,—12, —2% 20. —31,—38,—45,-52, ..
“2=(8) 2 ~lo Qn=d-n #b -35~(-31)=-7 an':d'n_*b
~R=(-=-lo & :‘[0(.} +b -yYs “((-38‘)'—' -7 =31=-7(1)+)
a2 - (-12) = ~fo Y 52 (-48)=-1  =31=2-T74h
+lo +10 b t7 - *Z
7 T =29 =
A, =10 +18 12=b




